2 3 4 5 6 7 8 9 10 11 12 13 | 14 | 15 16

NOTE:

FRAME COMPONENTS ASSEMBLED
USING M10x40 HEX BOLTS.

© Copyright : Gatic Pty Ltd - 2013

[I -I I- I\
__l[C IIC IC IC Mo -
o N[ o,
™ ! )
) 5 .{7
1l =
\ -
N
J L
) . . /)
ol o
M| @
) O
-/ S N
M) _ _ _ LN 2
N
A I~ N A
Ll m |
- ,_ R q R q 4 _, =
o o
e W),
\ ] L [l I)
1144
Item Document | Revision Title Material Qty Mass
No. No.
1 1661 F 914x610 C/O Concrete Infill Ductile Iron 500 - 7 1 96.512
Cover Class D
2 4013 B 914mm Draw Cut Bar Class D Ductile Iron 500-7 1 15.364
‘ ‘ 3 4006 C 680 mm RH Side Bar Ductile Iron 500-7 1 9.793
\ l 4 4005 C 527 mm LH Side Bar Ductile Iron 500-7 1 9.793
o
S :l % Lﬁ\ ’ L\ = |: 5 4016 B 914mm Under Cut Bar Class D Ductile Iron 500-7 1 12.783
— ] T T 1 I ] —_—
: : 6 2856 A M10 Washer Nylon, general purpose | 2 0.001
914 7 2855 A M10 Washer Stainless Steel, 304 2 0.008
= hl
SECTION A-A 8 2857 A M10x65 Socket Head Cap Bolt | Stainless Steel, 304 2 0.112
9 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.005
10 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.020
UNLESS OTHERWISE STATED | 1NEAR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening e BY DATE |“Chsoicoep | ™%  914x610 C/O CONCRETE INFILL COVER &
CZ) ALL MEASURES IN MILIMETERS. X.  +0.25mm E oesioNeD: | S.5. | 21-05-13 e FRAME ASSEMBLY CLASS D
g e om0 T T ™ = JlO e et [= 7ehig
g 21-05-13 | Initial Release S.S. S.S. | CASTING RADII:.?: mm Q!\‘GULA:*:%.PQ?CHINING TOLERANCE: EIAGLP'Y'?IE%E;DO-LOG/;'SF‘I‘SBSOE.ALING GREASE TO BE S?J;SdZTIRI;ZE PO Box 312, Reservoir VIC. 3073 THIRD ANGLE | cece: SS. 21-05-13 i PRGNt 4843 o A
DATE DESCRIPTION BY |CKD. | DRAFT TAPERS: 2° XX  £0.1° APPLIED ON ALL MACHINED SURFACES. Ph- 03 9316 2666 Fax- 03 9315 0099 www.gatic.com.au PROJECTION [ aroveo:| H.B. | 210513 |7 1of 1
2 | 3 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16




